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Part A: Grammar and Vocabulary
Directions: Questions 76- 87 are incomplete sentences. Beneath each sentence you will see four words or

phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence.

Then mark your answer sheet.

76- The design of the carpet appeared so pleasing to John .............. to buy it as quickly as possible
1) which he decided 2) that he decided 3) he decided 4) decided

77- Some of the animals now .............. in Africa are very close to extinction.
1) they are living 2) are living 3) live 4) living

78- Do you actually want to know ............. ?

1) did the first coffee bean growers how used to live
2) how did the first coffee bean growers used to live
3) how the first coffee bean growers used to live
4) the first coffee bean growers used to live how

79- Tired .............. the careless employee’s endless mistakes, the boss sent him to another department.
1) of 2) for 3) with 4) about

80- This new type of the Digges telescopes .............. images 11 times.
1) recognizes 2) explores 3) magnifies 4) releases

81- He was until very .............. the most powerful banker in the city, but some more powerful ones have
started work.
1) immediately 2) commonly 3) formerly 4) recently

82- The story the child told us was not true; it was only the product of his .............. .
1) conclusion 2) imagination 3) comparison 4) collection

83- She told her children to be quiet, as the noise they were making was really .............. her.
1) bothering 2) preventing 3) frightening 4) influencing

84- Probably her greatest .............. is that her mother is ill and that the doctors are not able to keep her
alive.
1) sense 2) prediction 3) concern 4) concentration

85- When he said he was not .............. to answer that particular question, we switched on to other
questions quickly.
1) calm 2) exact 3) willing 4) suitable

86- | hope a little bit of sleep would .............. some of the confusion from my mind.
1) remove 2) destroy 3) stick in 4) pick up

87- As he felt a painin his .............. , he went to the emergency department of the nearest hospital, afraid
that he might have a heart attack.
1) muscle 2) vessel 3) lung 4) chest

Part B: Cloze Test

Directions: Questions 88- 92 are related to the following passage. Read the passage and decide which

choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Like most people, | don’t have much trust in car advertisements ...88... they’re Audi’s or anyone
else’s. So When | bought an Audi 100 LS, | decided to check the ...89... which | got against what they
advertise.
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we ...90... together now for 100,000 miles, and | have kept a full record of everything I’'ve spent on
my car- right down to the car wax and the polishing cloths. And | can only say that, in my experience,
the people at Audi didn’t tell the whole truth. They claim that the Audi 100 is remarkably ...91... . But
nowhere do they tell you that it needs 20 liters of gas per every 100 kilometers, which is ...92... I've
averaged over the past five years. But they came a little closer to the truth when they said that the
Audi 100 is reliable.

88- 1) since 2) whether 3) while 4) even though
89- 1) functions 2) conditions 3) aspects 4) results

90- 1) are 2) have been 3) will be 4) are going to be
91- 1) flexible 2) economical 3) hardworking 4) natural

92- 1) what 2) when 3) that 4) how

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer

sheet.

® Passage |:

A device has been developed that enables babies born blind to see the world through echoes from
an ultrasonic scanner. Dr. Tom Bower, of Edinburgh University psychology department, told the
British Association annual conference that he gave the device to a 16- week- old boy in the U.S. and
the child responded to it within half a minute of putting it all.

The battery- operated scanner sends out a pulse of ultra- sound through a cone attached to the
forehead. Through earplugs the baby is able to hear echoes in stereo which tell him what lies in front.
By moving his head, he will detect sounds from different parts of the room.

The closer the object is, the lower the pitch of the sound. The bigger it is, the louder the sound. The
child can also establish whether the object is hard or soft; a hard object will give a clear sound, and a
soft one will give a fuzzy sound with overtones. Normal voice commands can be heard by the baby
while he is wearing the device.

Bower first tried it out on a blind baby from the Berkeley children’s hospital in California. The baby,
Denis Daughters, seemed delighted and played hide-and-seek with his mother after a few days. He
enjoyed finding her in a room. At the age of nine months, he had reached the development stage of a
normal sighted baby. He was able to perform tests such as balancing an object on two prongs or on a
table edge. This may sound unimportant, but few sighted children can perform such a task before this

age.
93- What is the best title for the passage?
1) The World of the Newly Born 2) Seeing With Ears
3) Scanners: A New Version 4) Scientists Help Doctors
94- The word “it” in paragraph 1 refers to .............. .
1) device 2) echo 3) conference 4) department

95- What does paragraph 2 mainly discuss?
1) The quality of the sounds received by blind children
2) Who the new invention is good for
3) Ways to use the new device
4) How the new device works
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96- Why does the author mention Denis Daughters in the last paragraph?

1) To show how to stop blindness in childhood

2) To indicate the importance of playing games for the development of children

3) To cite an example in support of the fact that the new device is practical

4) To prove that more tests are to be performed before the new device can work efficiently
m Passage Il:

Mars is the fourth planet from the Sun and the second- smallest planet in the Solar System, after
Mercury. It is often referred to as the “Red Planet” because the iron oxide prevalent on its surface
gives it a reddish appearance. Mars is a terrestrial planet with a thin atmosphere, having surface
features that look like the craters of the Moon and the valleys, deserts, and polar ice caps of Earth.

The rotational period and seasonal cycles of Mars are likewise similar to those of Earth, as is the
tilt that produces the seasons. Mars is the site of Olympus Mans, the largest volcano and second-
highest known mountain in the Solar System, and of Valles Marineris, one of the largest valleys in the
Solar System. The smooth Borealis basin in the northern hemisphere covers 40 of the planet and
may be a giant impact feature. Mars has two moons, Phobos and Deimos, which are small and
irregularly shaped. These may be captured asteroids, similar to 5261 Eureka, a Mars trojan.

97- Which of the following questions is the one the passage is primarily written to answer?
1) How was Mars formed?
2) What life forms can Mars support?
3) What does the Planet Mars look like?
4) How big is Mars compared to other planets in the solar system?
98- The passage suggests that Olympus Mons .............. .
1) is the only volcano that we can find on Mars
2) plays a part in the creation of Martian seasons
3) is the second highest mountain in the universe
4) comes second in height in the whole solar system
99- The word “one” in paragraph 2 refers to ............. .
1) Valles Marineris 2) Olympus Mons 3) mountain 4) volcano
100- The passage provides enough information to answer which of the following questions?
1) Why is the atmosphere of Mars thin?
2) Where has the iron oxide on Mars come from?
3) Why are the two moons of Mars irregularly shaped?
4) How many planets are closer to the Sun than Mars is?




